Converting Between ml and 1 (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
= = P = = > X
G M k h da 'd ¢ m [ n
9876543215-5)-'1-2—345—6789
. Convert 460 500 mL to L
Convert 3.84 L to mL
Convert 0.091 L to mL
Convert 770 mL to L
Convert 48.3 L to mL
Convert 460 000 mL to L
Convert 0.0109 L to mL
. Convert 92.08 L to mL
Convert 7 710 000 mL to L
Convert 447 000 mL to L

Math-Drills.com




Converting Between ml and 1 (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 b 2 5 §i i3 § = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 460 500 mL to L

460 500 mL +-10+10-+ 10 =460.5L
Convert 3.84 L to mL

3.84L X 10x 10 x 10 = 3840 mL
Convert 0.091 L to mL
0.091LX10xXx 10X 10 =91 mL
Convert 770 mL to L

770mL +-10+10+10 =0.77L
Convert 48.3 L to mL

48.3L X 10X 10X 10 =48 300 mL
Convert 460 000 mL to L

460 000mL +-10+10+10=460L
Convert 0.0109 L to mL

0.0109L X 10X 10X 10 =10.9mL
Convert 92.08 L to mL

92.08LxX 10X 10X 10 =92 080 mL
Convert 7 710 000 mL to L
7710000mL +-10+10+10=7710L
Convert 447 000 mL to L

447 000mL =-10+10+10=447L

Math-Drills.com




